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Match the electron configuration of each atom (column 1) to the group of the
periodic table the element belongs to (column 2).

2,81 @ ® Group 2
2,8,8,2@ ® Group 7
28,7 @ ® Group 4
2,4 [ ® Group 3
2,83 @ ® Group 1
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Match the group of the periodic table (column 1) to the properties you would expect
an element from that group to have (column 2).

Group 1 ® ® metals that form ions which always have a 2+ charge
Group 0 [ ] @® typical metals

Transition metals ® @ very reactive non-metals

Group 2 ® @ very unreactive non-metal gases

Group 7 [ ] @ very reactive metals
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1 a What does periodic mean in the term periodic table? [1 mark]
b In the periodic table, what is:
i agroup [1 mark] ii aperiod? [1 mark]
2 a How do the numbers of metal and non-metal elements
compare with each other? Estimate an approximate percentage

difference. [1 mark]
b How do the electronic structures of the atoms of a metallic
element change when they react? [1 mark]

3 How many electrons do atoms of the following elements have in
their highest energy level (outermost shell)?

a beryllium, Be [1 mark] b boron, B [1 mark]
€ potassium, K [1 mark]  d helium, He [1 mark]
e argon, Ar [1 mark]  f radium, Ra [1 mark]
g radon, Rn [1 mark]  h iodine, I [1 mark]
4 Explain why elements in many groups of the periodic table have
similar chemical properties. [2 marks]

5 Suggest why the noble gases are so unreactive. [1 mark]





